Secondary 2 Honors

Roots and Radicals Notes 3.3
Let’s practice simplifying radicals: 73
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Plot the value of each radical expression on the number line. = - B
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What is the same about all six of the expressions and what is different about the six expressions?
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Example 1: Simplify the radical expression:
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Practice: Simplify the radical expression.
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Question: Wﬁ;can you only simplify a negative under the radical when the root is an odd numb$w'hy ;N?you

simplify a negative under the radical when the root is an even number?
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Example 2:
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Practice:
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Another way to deal with radicals:
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Do you know how to solve these? V16 Vs. 162
Memorize the following formula: '-f L}
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Practlce Convert each to the other form (radical = exponent OR exponent - radical) 7
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thy Now that you know how to convert between
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and rational exponent form, try and evaluate these.
i

Question: What operation would you apply to get x?
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Practice:
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